GFDODOOOOO gboboooodgon 1

ooooogon

gogboooogb,

dU

F(UH) =il (weR)

gbboa,bgbboobbodboogb,obboobbod.obodoboo
00000000000 000oOoooooooooooob.

00000 (Hooooo,

O00,t=nAt000,
U(nAt) = U(0)e™nat ()

gogo.

gbdbodgbboobuooboob,oboboobbooboobbooboba,
ggboboooobn.

Un+1
A= . 3
T 3)
ooo,
A= |\|e?. 4)

DOpooo0o00000000000000O020000.
011000000000

aiu_i_ @_0
T
u=Re[Ut)e*| 0000,
d
%—chUzO
ooo0Oo,00cdb0 (HhObhoOD w=—-kcOOD0OODOOOODOODO.
02000d
du dv
E_fv’ E__fu'
o000 U=w+w000000,
du .dv ,
aqu%ffvfzfu
= —if(u+iv).
goo,
dU
— =—ifU.

dt
O00,w=—fO0000000000OO.

2012°1025-takuya.tex 20121025000 0)



GFDODOOOOO gboboooodgon 2

ooo,
U™ =U°\"e™. (5)

ggbobo.bobboooobbobooaob.

Al>1 000

Al=1 OO

Al<1 OO
0D000000,000000000000000000000000.0000
0000 Q)00 wAt 00000000 ()00 2000000,

nb B 0
nwAt WAt

ggboboooaobn.

i>1 gdodooooogoogood
WAL

0

— =1 gogodg

wAL

i<1 gdodooogogoogood
wAL

0
DDDDDDDDDDDW,—AtDDD 1oooogoo.gbobobo,bgn
w

O00o0ooooooobbobooooOobObOOoOo.0oobboboooDboboO At,Az—0
0000,000000000.000000000UUDoDOOOOOOg,|A <1
gobodobob.boobboobboobbooboobboobboobobo
ggboobuooobbobooooboo.

Joobob1o00ooobobobon

Ur00 U 000000000 f01000000010000000000
0.000000000100100000000000000000,0000
00000100000000000000.0000010000000000
ooo,

Urtt = U™+ At (af" + 8. (6)

ugd,
at+B=1,

2012°1025-takuya.tex 20121025000 0)



GFDODOOOOO gboboooodgon 3

Ub00.o0 p000000000DO00OO0OOODODO.

a=1,=0 00000000
a=04=1 000000

1
a=p=3 0ooooo

0000000 f=wU000,00000000000000000,
U™t = U™ +iwAt (aU™ 4 U .

n+1
oooo.oo0oa ax=

ggoood,

A =1+ iwAt(a+ BN).
O00,p=wAt0000,

A_1+WAM
1 —iwAtB
_ L+aap
1—iBp’
gooag, .
_ 2,
= IT;7¥§§(1'_(IBP +ip)

000.0000000000000 (o,4) 000000,

oooooooooon A=1+41p

L
ooooooooo A=t
1+ p?
ooooooooo A 1 1 12+‘
- 1 5 — - 1

000.00000,0000000000000 |N|ODOOO.

gogbooogd

A = VAN =/1+p2> 1.

000,00000000000000000000000.00,p=wAt<1
ooo,
1 1
M=14+=p>— pto...
Al=1+gp" = 0"+
=1+ O(A#?),

2012°1025-takuya.tex 20121025000 0)



GFDODOOOOO gboboooodgon 4

ggb,godbbboooobbbuoooobobod.

goooodg

1 1
Al = VAN = V1+pt=4/ <1
A 1+ p? T 1+ p?

Oo0,000b0000 Atobooobo0oobooo.oo,wboobDboOoo
gogodooooo.ooooouoooooooooodgoooooooogo
goog,gboboobgoboboooobo @ooobo)bobobooobog.

gogooodg

I\ = VAN

1 1 .\?
1+hﬁ¢< 4p) g

oo, ggoobbbooooon.

oo0oD,00000DbO00 AtO00DbDboO0oDbDooooo.

goob1d0doooooon

2000000,0000 00000000000 fO02000000000
gbbog,buggboobobuodobboobuoobboo.obbodob,obbo
1Dooogoobooooon,

U = U™ + At (af™ + B0 (®)
a+ =1

000.«0 A0000000000000O00O0O0.
a=0,08= ooooon

gboobodgo

2012°1025-takuya.tex 20121025000 0)



GFDODOOOOO gboboooodgon 5

(HDD0OD0D0D0D0DDDo0Do0o0o0on ff=iwitroog,
Ut — U™ 4w ALU™. 9)
00,®00000000000,9 000000,

U™ = U™ + At(eiwU™ + BiwU ")
=U" + iwAt{(aU" + B(U" + iwAtU")}
=U" +iwAt{(a + B)U" + iwAtpU"}
= U"(1 +iwAt — w?*At*B)
00000 p=wAt000,00000,
Ut = (1 — Bp® +ip)U™.
O00,0000 MN00000,

Un+1
= n

g00.00000DO000O0000b0 pOob0OobDODOO,

A =1-—pp*+ip (10)

000000000 A=1—p*+ip

1
DDDDDDDDDDAzl—?f+m

000.00000,0000000000000 |A\|O00O0d.

oooooQ

000000000 f=100000,000000000000,
A=1—p*+ip, (11)

000.000000000,000000000 (A\|OOOODOOODOOO.O0O
gog,

Al = VAx
= /(1= p?* +ip)(1 — p* —ip)
=/ (1 —=p?)? +p?

VI Fi (12)

2012°1025-takuya.tex 20121025000 0)



GFDODOOOOO gboboooodgon 6

0000000 |N<1oOooooo,

p|<1000000.p=wAt00O,
lwAt| < 1.

0oo,At>0000, 1
At < —. (13)

wl
0000000 p0000 \OOODODDOOOOOO,(\D000000. (12)

0pO0OO0,
diX  4p*—2p
dp  2\/p*—p*+1
2p° —p
Vot =p?+1
000, [\ O p=1/2000000000000.0<p<1/4/200000
wOOOOOO (A|O00D0D0O. Matsuno (1966) 00, 00000000000
D0<p<1/\/§DDDDDD At0000DO0ODOODOOO0ODODOO.00DbO,

0<p<1/\/§DDDDDwDDDDDDDDDDDDDDD,DDDDDDDD
gogbbbuoooobbbuoooobbboooobbbooan.

Doooooo

0000000000000, 0000 g=1/2000000,
A:1+m—%ﬁ (14)

000.000000000000000,0000000000 (\|0000.

Al = VAN
1

= \/(1 +ip — %pQ)(l —ip = 5p°)

1
By P

/ 1

5o p>0000 1000000000, 0000000000D0OO0DODODOO
O00000.000,p=wAtk 1000 |MOp=0000000OO0O0OO,

1
1,\? 11
1+-p*) =14+ ==p*+00*
(+4p) +top t (p°)

1
:1+§%+0@%

=1+ O(At").

2012°1025-takuya.tex 20121025000 0)



GFDODOOOOO gboboooodgon 7

ooo.ooo,
A =14+ O(AtY) < 14+ O(AY),

ggbo,ggdgobbooooobobbdagd.

IbDoggoboboboogobobuoooobbboooobon.

Aoooo|=v1+p?%

1
A =
| [I[I| 1+p27
’)\DD|:17
Moo | =v1—p?+p4
1
Aooo| = 1+Zp4-

ggbbobuoooobbbuoooobbboooobbboooon.

4
I I "./Trapezoide{l_scheme.dat" _
"./Heun_scheme.dat" -------
"./Backward_scheme.dat" --------
85r "JEuler_scheme.dat" - A
"./Matsuno_scheme.dat" —— -7
/'/
3| Yy |
/
,/V/
/'/
25 | p |
g
7/
© .
s
15 e ,_,//v 1
1 S— et — P
o5 L T e |
0 L I L
0 50 100 150 200

(p*100)

Figure 1: 500 10 000000000000000.000 p=wAt,000 |}
gbooooo.oggboobobuogb,obbuoobbodg,uggbbogboo
g,10bgoboboob,oboobobboboobooboobo.

2012°1025-takuya.tex 20121025000 0)



